5™ Grade Reading & Math Packet
Summer 2013
Dear Parents and 4™ Grade Student:

Congratulations on successfully completing fourth grade!l In order to help
you maintain all of the math & reading skills that you've learned this year, you
need to complete the attached summer packet. Mastery of all these skills is
extremely important in order to develop a solid foundation. The fifth grade
program will add on to these fourth grade skills, so any time spent learning or
reinforcing these concepts will be very beneficial for your child. If your child has
difficulty in any area, parents may want to assigh them additional practice.

To participate in the summer program, your child must:
e Read 100 minutes a week for 8 weeks
» Complete the math portion weekly
e Have parents sign and check all work
e Turn in the packet to their 5™ grade teacher the first week of school.

Students who hand in a completed packet by August 9™, 2013 will receive a
certificate from Mrs. Wooton as well as additional prizes!
Additional Prizes

Reading Math
e Wildcat coupon for every 100 s Wildcat coupon for each week's
minutes read. worth of math completed.
o Enter in a drawing for a grand » Enter in a drawing for a grand
prize if 800 minutes of reading is prize if entire packet is
completed. completed.

» Top 10 readers (most minutes) will
go on a walking field rip to Mrs.
Curl in August!




Reading- Incoming 5™ graders are expected to read 100 minutes each week over
the summer, with 1 week of f for vacation. Students will need to keep a reading
log of their time and have parents sign of f. Since students will already be

documenting their reading time, we highly encourage all students to participate in
the Greenwood Public Library summer reading program. They have a wonderful
variety of books that are leveled for 5™ grade and students will be able to earn
additional prizes and play games at the library. While there is no required reading
list, we highly encourage students to read a variety of genres. At least 2
nonfiction books are suggested.

Week Minutes Parent Signature
#1

#2
#3
#4
#5
#6
#7
#8

Grand Total =




.’_Mafh'-""Ther'e are 21 math pages in the packet: that's only 3 pages to do each week

(1side = 1 page). As you complete the pages each week, check them off on the
chart below. There is also an answer key for parent use only in assisting their
child. Remember, practicing multiplication facts (0-12) and division facts are

VERY important!

Week Date Pages Completed

#1 6/10 - 6/16 5-9

#H2 6/17 - 6/23 10-15
#3 6/24 - 6/30 16-20
#4 7/1-7/7 21-26
#5 7/8 -7/14 27-30
#6 7/15 - 7/21 31-35
#7 7/22 -7/28 36-39

* Dates may be adjusted to accommodate vacation.

There is a glossary of all math-related vocabulary at the end of the packet. In
addition, you can go online to any of these websites for fun learning and

reinforcement of math skills:
www.ix|.com www.wildmath.com www.harcourtschool.com

www.ablusmath.com www.mathisfun.com www.eduplace.com

www.acamath.com www.funbrain.com www.mathstories.com

www.mathplaygroud.com www.khanacademy.org

www.coolmathforkids.com www.sumdoag.com

Good luck with the packet. Remember to return it to your 5™ grade teacher on
the first week of school and you will be entered into a raffle for prizes!

Sincerely,
5™ Grade Teachers




4™ Grade Math Expectations

Number Sense

* Read and write whole numbers up to 1,000,000.

* Round whole numbers up to 10,000 to the nearest ten, hundred, and thousand.

* Order and compare whole numbers using symbols for “less than” (<), “equal to” (=), and
“greater than” (>).

* Name and write mixed numbers as improper fractions.

» Write tenths and hundredths in decimal and fraction notations. Know the fraction and
decimal equivalents for halves and fourths.

» Round two-place decimals to tenths or to the nearest whole number.

Computation

» Understand and use standard algorithms for addition and subtraction.

« Demonstrate mastery of the multiplication tabies for numbers between 1 and 10.
* Use a standard algorithm to divide numbers up to 100 by numbers up to 10.

+ Add and subtract simple fractions with different denominators.

» Add and subtract decimals (to hundredths.)

Algebra

* Plot and label whole numbers on a number line up to 100. Estimate positions on the number line.

+ Show that muitiplication and division are performed before addition and subtraction in expressions without
parentheses.

* Understand and use the commutative and associative rules of multiplication.

* Use letters, boxes, or other symboals to represent any number in simple expressions, equations, or inequalities (i.e.,
demonstrate an understanding of and the use of the concept of a variahle.)

Geometry

e |dentify, describe, and draw rays, right angles, acute angles, obtuse angles and straight angles.
+ |dentify, describe and draw parallel and perpendicular lines.

¢ Identify, describe, and draw parallelograms, rhembuses, and trapezoids.

* Draw a shape that is congruent to another shape. '

Measurement

* Measure length to the nearest quarter-inch, eighth-inch, and millimeter.

+ Subtract units of length that may require renaming of feet to inches or meters to centimeters.
e Know and use formulas for finding the perimeters of rectangles and squares.

¢ Know and use formulas for finding the areas of rectangles and squares.

« Find areas of shapes by dividing them into basic shapes such as rectangies.

* Use volume and capacity as different ways of measuring the space inside a shape.

+ Add time intervals involving hours and minutes.

* Determine the amount of change from a purchase.

Problem Solving

* Interpret data graphs to answer questions about a situation.

» Apply strategies and resulis from simpler problems to solve more complex problems.

» Know and use appropriate methods for estimating results of whole-number computations.

» Make precise calculations and check the validity of the results in the context of the problem.

* A parent guide is located with the answer key. These pages contain useful examples of problems and explanations.
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12. Write the products: Practice any you do not know quickly.

4 3 11 2 2 7 10 12 6 5 9 5
2 x x ¥ xB ¥ B x« x3 ¥ x 3
3 9 2 5 7 10 6 5 11 1 4 8
B x5 x2 ¥ ¥ ¥ x#» x x B %X X
6 g 6 3 9 10 12 3 7 4 9 4
¥ x x ¥ x3 £ B8 ¥ xB3 ®H 2 B
9 7 5 2 6 7 3 4 5 8 3 11
x8 x6 x10 x7 x0 xI x8 x6 x xI X9 xi
9 2 6 4 5 6 4 8 10 3 7 4
¥ x99 xI xll x6 x8 x x8 x8 x6 x8 x/
2 3 9 g 2 3 9 7 0 2 5 4
%6 x12  x9 x6 x3 x6 x7 %8 x9 x12 x3 %9

13. Since 5 x 20 = 100, which number will complete the number sentence below to make it true?
5x x5=100

A 4
B. 5
C. 20
D. 25

14. Solve 136 —67.

A 6l
B. 69
C. 71
D. 79

I’ o

[#a W w

|><



e 'a
EST D
. s a 0Z8'z ‘g
9 D 002’5z 'Y
+d
Ly Wlom nak mouS ;07 AG OPIAP OZCT SIBIM (1T
09 %zl X 0196k 'd
DI10RT "D
11224107 20USUAS Tt S SIREl JRU3 JaqUIntt ot Y3tm e S ut 1] L2 186t 4
01zIg'y ¥
z d oM IN0K MOUS  LE A9 PIPIALP 99bT SHI=, 0T
irANe]
0E €
a0z v e o - _
— . oz x 95X 8LX 89 X
£V SDIBUM OOE = W + 00931 "9T 20¢ LER o¢1 6PLT

[duime[o} o4l aaieg 6T
£09=5+61Z'c U
W9 =6+512¢ D

908 =9+9¢8% g (ex0m)+(sx08) 'q
98 =9+9£8% Y ¢+{08 %5} D
(sxe)+{c%08) g

(c+e)xog v

S[I0M 004 MONS 1991109 S| WAIGOId BOISIAIP YalUM, ST
15 % £8 ©f [enba §1 vorssardxs GaiyA, ‘g1

005LE "d

0bLE D L+{px05) 'a
sLe z+{s%05) D
DLt Y T+{5+05) g

pxe)+bxos) v
01 +05LE  juoisserdxa S1) Jo anjea suy SUIBA, HE
Lb X LG SeonjeA ates aif) Seq I LY

¥0s 'd
L1 D Exe)+rxe a
€91 g (G+owxe D
95 v i Gxop)+€ g
G+dxe v
8582 oea o) of
11t sopoun) Aues mof] sasse[o apeS-ane] ¢ Juatte £jenba pareys aq o) sayoun] §91 a1 a1 ], ‘g7 L6b % £ 01 jenb2 st ueissardxs yougm o1
05t 'd oz d
311 e [ e ]
op1 g Wi d
[N :3 B
=+ 02k Luolssaxdxa sy Jo snjmA 21 51 J8UM 2T . ‘B — 90T 24308 €1



45570 01 [enlia SLUSNIA, “6E

sagout gy/L "d
soyam poi/L D
suyotl QORY/L E

sayaul 0O00I/AL 'V

JSOUONL 270 a1 0 AuA IOUloUe SIIRM 8E

0 a
w'o D
0z'0 'd
00z v

@ @

£SUI0D SE3([2 JO NS 21} 5T JR[|OP 2uo Jo 1ed [ewtoap JuNM “LE

1795 'd
12968 O
IL9s d
9¢8 Y

v

£108 a1 pip aZueID o moly Aauad v pue sauip 7

*s1aprenh g *sy[1q Iafjop suo ¢ uaAd semal "a10)s Axa0e3d sty 1e 230 owI0s LA SeA IR|D TN 9L

SUIPAIDUM] S £110] PUB dA[BM]. ‘(0
suay su A130f puB sapml 0

suu AJ10} pus sAloml ‘g

sauy A0} om pUz U] Y

LEb TS SE TS 91} SUBSUL IAMSUE DM, "SE

sefed z] "
safed 1 ‘D
safed o] g

sofed g 'y

oA 0k aolg 4odud v ug

14 so10yd ¢ 31 papasu ee sefed Aumu Mol winqe ojoyd e ur paceld st sojoud ¢f ssoddng pg

Sued sor "
sumd gl D
sued §Op g
5ued LLT Y

Liapdoie 9q 101
PIneat SEd AUBUL MO "SSE[9 oA UJ SJUSPTIS L7 938 2191, U[ILD SUEd (ST 139[]0D 0} 5eA USRS
tjaes 103 1eod at ], -duy ssejo & Jof Kauow ostel o) suza dod pajaa|jos ssepo anok uy spepms Ay, ‘§f
=g—80 'd
={+80 D
=E+80 '8
=gX80 'Y

81 = 9 % £ Twisn paxoayz aq ued wapqord e YoM TE

0

= 90 Oh e
<H 00

tz=d+0Lt
{a01) Mojaq uonenbs aif) soxeut d Jo aufea Jegm, 1L

9T U
o o
vz g
v

zE=8+73
AN} aoUajies JHqIunt ) sajett B Jo anjea Yol *0F

vl "d
1 D
BT °
Ly

[Z=L+U
enn mojaq wonenba 1)) SHEUT W JO ONJBA IBIA 6T

0zl 'a

08 °
<
14

< &

0T =¥+ 001
ADI} 95UDIUIS JGUARY U SINBUE Y JO IN[BA JRIM, BT

01



=BXE
T =Lx§
T =gx¢
T =Le9s
T =pxg
T =9%§

T =ogxg

£l

<muA
<4munQ

gﬁg REGRoK|

5 (%),

T mgxg T =gt
T e p %y T =6+t
T =gl T =6+l

=LXL T =g+t
Y £ 34 T =gug
— =g¥%¢ T =¢¥i
T =¥y T =gy

:1ojefnoes e Julsn 1noItm 251 Jo 1983 2405 "Bb

008y ‘'d
0081 D
aro g
8E0°0 'V
FULI0J PIEPUEIS UL BIRLIM SYPDIpUY] uaajyTia 51 a

eoctw,m
SIpaIpUN sA1L D
s g

HEpsug Y

fl

g

*¢/1 S)uasaadar joy) noad pafaxro oifi 95004 “Gb

1G* S8 SLUES 24 S I9QUINU YOI, 'Op

=01/2

=001/9%

SiipsIpuny sipuay -

=001/9% =01/ = 001/

=(001/E2 =018 =01/

“._uﬁ_hnu_..:u.wh .-.ﬂ—.:u.* JELuIDap Ul ED_.—DE.._” ME_..SD:_um D—ﬂ D“mha o

= = SUIF 9414

= = SIpa3pun ALY

= = SPRIPUNL UaADS-KIUaM ],

= = stey Sy
JUNG] [RLN125) pUR UANIRY] Ul mzm.snmmam SN LI “hb

[2i82 e

vob g

ey v
L ZETCPIAIT ‘B

12 st}
t SUIp2IPUNY 49
I siypaapunt| 33

80" S} e

“omiel B el 03 Sl B el Sumel[o) stn G T

diulod g
Jwad D
gwed g
ymed v
T [ 0
-~ ——o—|
¢ D d v

16L'1 suasaadol 1524 MOfaq 2L} TagUINt o1 to Juod ols T4

sL'0 "a
20 D
00 g
Yo Y

{Aautow Jo yuny) ispewsaap o) AuIaAT0d UM 0OT O % IO YL
LHINGY 3U0 SE ALWeS sty ST Jaquenu yangm "Op



g a
[} ]
RS €

T v
uonoen rodoldit Tk 51 IDGINU KOA[M LS

L a
i O
e "
8V

&% 1enba sjyfie Aueln moy “gg

s 'a
(AT

Tt g
Tl Y

£9/5 1enba syyf[esm) Auew AOH ‘55

we'd
%l 0
wid
wly

Ma[aq aUl] JaqUNU A U ¥ 8if) JO UolEa] A1) Sjuasasdal 15aq BULMO[I0] o) JO MM b

£ [4 I
< | I Fy | b 1 1 | >
N I I T [ T I | I Ll
£ T ]
o ] 1 ) | | 'y ] I -
ha T T i I t T I I Ll
€ € |
a4 i Fy 'y 1 1 1 ] ] [
< 1 T * T T T T i g
£ [3 1
> | I 1 | & 1 i | -
il | I 1} k T 1 | 1 bl
F_z
—Z =
{ <
JSUOLI2BI] OAv] ASITY} SMOT[S SUT] JAQUIR A £

S1

8e -
85 "
£f5
cre "

<ML AO

POOO® OO

JPapRUS ST IR} a8 213 Jo 10d A3 JoF SPURIS VONIIRI} PILA, 510200 JO 108 ST JE 00T T
e o

|74
e v

OO0 OO e e a

4798 stips 3o 11ed papeLs 91 J0f BOIOL A3 STIEEM (1§
£ °a
3

2

dl

wis

v

we |

1307 Srppaed oy ur

§120 on|g Jo uoHoRL} o)) S11RgM 10y Supiied o) ug sreo 191S 7 pue ‘srea enpq ¢ ‘sava pal p are A, 05

¥l



58. Convert this improper fraction into a mixed number. 11/2

114
2/11
4%
5%

oW

59. Which of the following is listed from smallest to largest? Draw pictures

11 15 » 10
4° 67712

60. Solve the following:

1x9=__ 3x6=
§x6=___ 2x2=
24+3=__ Tx7=
4B+6=_____ 18+ 6=

61. Which of the following is a prime number?

A 21
B. 33
C. 49
D. 53

62. Choose the equation that is NOT true.

1
A 2

Ox 7=

3x8=
S56+T7=

Tx3=

6x2=

9x9=

Tx7=

4x0=

16
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113. How do you write 45 hundredths as a fraction and decimal?

fraction

decimal

114. The chart below shows the number of minutes that Katie spent on her computer each day for
one week.

Katie’s Computer Time

Day Number of Minutes
Sunday 59
Monday 65
Tuesday 42
‘Wednesday 84
Thursday . 64
Friday 37
Saturday 46

‘What number represents the median of the data in the chart?

A 47
B. 53
C. 59
D. 37

What is the range of the data in the chart?
A 37
B. 47
C. 88
D. 92

115. What is the median for this set of numbers?
2 8 4 4 15 7 14

vaowp
— 00 =]



116. Find the range of: 4, 12, 13,6,5, 8

A 4
B. 8
C. 9
D. 13
117. Find the median of: 9, 4,3, 7,2, 8,4

vows
- VN

118. Find the sum or difference: Watch the signs.

135 546 71 50 304
+479 +137 -18 =26 +235
17 54 135 3.2 8.8
+18 -39 -53 +2.8 +1.3
400 621 842 699 35

119. What is the range of the data set below?

2,1,7,3,5 2,9 7, 10, 4, 2, 10

oWy
Exooom

120. Which shows the fractions in order from least to greatest?
AV 13, W
B. %, 1/3, Y

C. 13, % %

63

3.1

=3.7

286

-44

30

426
-135

4.8
2.6

73
45
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125. Do the following divisions. Then check your answer. Show your work. No calculators!

A 1524 +6=

B. 380+10=

C. 423Q+10=

D. 476%

E. 5)765

126. Shade 3/5 of the boxes below:

Check your work:

1524

380

33



140. Find the products.

&~
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00 oo
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Lh 20
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Any multiplication problem you do not know quickly please practice on flash cards.

4
x4
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141. Find the quotients.

22 3P sp2 TS

8)8

2)16

8)16

99

763

33

321

4)36

8)40

NS

918

6)42

81+ 9=

10+2=

72+8=

25+5=

$HI0 40
50 44 412
520 3}18 3)6
424 26 18
540 8)64 T4
48+6=_
54+6=__
g+2=_
5+5=

D1

9)45

$15

535

6)30

39

N4

9

728

132

624

H8 912 954 13 12
963 6)6 312 1)7 30
N0 927 4)16 721 420
T35 3)27 6)36 324 20
8)56 1)5 4)28 7)56 8)24
18+6=__  42=7=_
36+9=__ 45=5=_
72+<%=__ 6+1=_
18+2=__ 30+5

CONGRATULATIONS!!! You have completed the summer math packet. You
are now ready for 5™ grade success! Please turn this packet into you 5% grade
teacher, the first week of school,
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addends

The numbers being added in an addition operation.
For example, in the number sentence 5 + 8 = 13, the
addends are 5 and 8.

angle

Two rays sharing a commeon endpaint {vertex) form
an angle. The angle at vertex 4 (shown below, [eft,
in red) is referred to as 24, When a diagram
contains more than one angle, the angle is referred
to by the name of a point on one ray, followed by
the vertex, followed by a point on the second ray.
For example, the angle shown below, right, in red, is
referred to as ZQPR,

Q 33

area N
A measure of the amount of space enclosed by a

plene figure. Here is how to calculate the ares of
some common figures:

+ The area of a square with side of length s is 5
x5=45

= The area of a rectangle of length / and width w
islxw,

» The area of a parallelogram with base & and
height k2 is b > A,

» The aren of a triangle with base b and height A

is Lon,
2

Page I of 11

@omwgl

average

Also called the mean value, a measure of the size of
the numbers in a set of data; found by adding up the
data values and then dividing by the number of
values in the set,

For example, if the scores on 3 math tests are 75, 80,
i +
and 85, then the average score is E =30,

bar graph

A visval way to display data using vertical ar
horizontal bars.

For example, the bar graph below shows the number
of points per game scored by four basketball players.
Each bar is labeled with the player’s nome. The
height of the bar shows how many points that player
scored, To find out how many points a particular
player scored, compare the height of her bar with the
numbers marked on the vertical axis.

30 Baskethall
E 2
=)
o
B2
@
E 15
&
10
m il W oo
Faith Joanna Sandy
Player
capacity

The amount needed to fill a 3-dimensional object
completely; also called volurme.

Incoming 5th Grade Summer Math Packet Page20f 11

customary ruler

A straight measuring tool, usually one foot Jong, marked in customary units of inches and fractions of
inches,

gu _ _,___ ._____:.m._._ .?._ I

1 2 3 4 5 [:] 7 [:] k] Ao 1 12

—1_._._—“._.—_____

data

A collection of related items; for example, a set of test scores, the coins in your pocket, the results of a
survey. Data is often organized into tables for easier viewing. Measures such as the mean {avernge) can be
calculated for sets of numeric data items.

decimal

A way of representing a number in terms of powers of 10 or place values: ones, tens, hundreds, thousands,
vy OF tenths, hundredths, thousandths, ... . The number is weitten asa sequence of digits (0 through 9), each
in a particular place value, For example, "two hundred sixty-eight and five tenths" is written as 268.5.

denominator
a

In the fraction a/b or 3

» which is the ratio of the numbers a and b with & # 0, @ is the numerator and b is

the denominator,

difference

The result of a subtraction operation. For example, in the number sentence 54 - 16 = 38, the difference is
38,

digit
One of the numerals from 0-9 used in writing decimal numbers,

dividend

The number being divided in a division expression. For example, In the expression 88 + 4, the number 88 is
the dividend.
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length

A measure of how long an object is. The length is
usurlly greater than the width,

length

width

line graph
A visual display of data in which a line is used to
show changes in data over time.

liter
A metric unit of measuring capacity.

Logical Reasening

A problem-solving strategy in which you connect
the facts step by step fo see what is going on in a
sitvation or to form a cenclusion.

mean

A measure of the size of the items in a numetic data
sef; also called the average value; found by adding
up the values and then dividing by the number of
values,

For example, if the scores on 3 math tests are 75, 80,

+30 +
and 85, then the mean score is & m.“_ 8

=30,

metric system
A system of measure based on powers of 10,

milliliter
(ml} A metric unit of measuring capacity; 1,000
millilitess = ] fiter.

Page 5of 11

million
One thousand thousands: 1,000,000 = 105,

mixed number
A whole nutber written together with a decimal or
1

a fraction. For example, 4 5

raitiply

The arithmetic process of repeated additlon. For
example, 3 sets of 4 items is 12 items in all; 4+ 4+
4=4x3

nutber line
A graghical way of comparing and ordering
nunbers,

For example, the number line below marks the
placement of the numbers 2, 2.5, 3, 3.5 and 4. Leiters
point to the locations of other numbers. The letter b
points to a number that is betwsen 2.5 and 3. Since a
is 1o the left of b, it refers to & number less than b,
Sinee ¢ Is to the right of b, it points to a number that
is greater than b,

numetrator

In the fraction /b or M.. the ratio of the numbers a

and & with &= 0, & [s the numerator and & is the
denominator,

aperation {numerieal)

An action taken with numbers, such as addition,
subtraction, multiplication or di

Incoming 5th Grade Summer Math Packet

order of operations

Page 6 of 11

pattern

The rules for simplifying or evaluating expressions | A set of objects grouped together by a certain rule,

show which operation to do first:

1. Parentheses

2. Exponents

3. Multiplication and Division

4. Addition and Subtraction
outeome

A possible result in a probability experiment. For
example, rolling a standard die can result in the

percent

A part out of 100, x% is equivalent to the fraction

#1100 or == The phrase "x% of the number n* can

100

be expressed as the product: Z. xn.

100

outcomes |, 2,3, 4, 5, or 6. yperimetes

The distance measured around a plane figure, The
perimeter of a polygon is the sum of the lengths of

output its sides, The perimeter of a circle is called its
The result when a functfon acts upon an input, circum/ference.
pictograph

parallel segments

Segments that lie in the same plane, but do not have
any points in common; they do not intersect.

parailelogram

A visual representation of data similar to 4 bar graph
in which pictures are used instead of horizontal or
vertical bars,

For example, the pictograph below shows the
number of volunteers on three nights. The key says

A quadriinteral (four-sided palygon) that has two | that each smiley face stands for 5 volunteers.

pairs of parallel sides. Opposite sides of 2
paratlelogram are paralle] and congruent, Oppusite
angles are congruent, and consecutive angles are
supplementary.

In the diagram of parallelogram ABCD below, 5 is
parallel to DC, AD is parallel to BC, AB=DC= b,
and AD = BC =g, Z4 and £C are congruent; and
£B and £D are also vongruent. An altitude is drawn
from point 4 to the base JIC', The perimeter of
perallelogram ABCD is calculated as 2(a + b). ks
area is calculated as axh,

A B

Saturday

Sunday

¥
Key: @ = 5 volunteers
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Incoming 5th Grade Summer Math Packet

table

A chart with rows and columns used to organize and
display data,

tally

A mark used in a frequency table to keep track of
data, Add the tallies to get a count,

tenth
A decimal place value: 0.1,

thousand
A place value: 1,000

trapezoid

A quadrilateral (four-sided polygon) with exactly
one pair of parallel sides. The dingram below shows
a typical trapezoid with bases a and b, and height 4.
The perimeter of the trapezoid is the sum of the
fengths of the sides, Its area is one-half the product
of the height and the sum of the lengths of the bases.

?T?;v

trend

A relationship found in a set of data; as one variable
changes, the other variable also changes in some
predictable way. Positive and negative trends can
sometimes be seen in line graphs and bar graphs.

unit fraction
1

3

A fraction with | as the numerator, such as

Page 10 of 11

variable
A letter nsed to represent a number. For example, x,

¥ and » are eommonly used variables,

Venn diagram

A visual display of relationships often using circles.
Each circle represents a set of data, The overlapping
area represents items in both data sets.

vertical

A line or line segment going up and down,
perpendicular to 2 horizontal line.

whole numbers
The set of natural numbers and zero: 0, 1,2, 3, wrfe

width
A measure of how wide an object is. The width is
shorter than the length.

length

widih







- Answer Key - For

Entering 5™ Grade Summer Math Packet

First Name: Last Name:

5™ Grade Teacher:

1 liave checked the werk

Parent Signature
Select the ane best answer for each question. DO NOT use a calculator in completing this packet.
1. Which of the following sets of numbers are all of the factors of 247
A 1,3,824
B. 2,4,6,8,12,24
2,3,4,6,8,12
1,2,3,4,6,812,24
2. Which of the following numbers is a multiple of 87

A 1R
B. 28

C. 44
o
3. The following sre all multiples of a one-digit numbec: 12, 24, 30, 42.
AS
@5
7
D. &
4. Which number is a maltiple of 37
A B3
R
L1
D. 8
5. Which of the following sct of numbers are all multiples of 77

A 35,47, 52

s, 42, 49
D, 17,47, 57
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6. Al sces this sign at a copy center. What is the least number of copies Al can make without losing
any money?

1 Coples cost 104 aach.
2 Copymathines enlytate quarters.

3, Copymachines do NOT msks shange.
iyoumate [ copy, youwdli NOT gut 164 back.

7. Which of the following is NOT true about prime numbers?
A They have exactly two factors
B. One is a factor of every prime number
No prime numbers end in zero
All prime numbers are odd numbecs
B. Which set does NOT conltain any multiples of 47
A (24,36, 42, 54}
B. (12, 15,20, 24)
C. (8, 16,24,34)
@26, 10, 14, 13}

9. llznlhmxn!!hndlmlliplanr.!. What pumber am 17
A2
4
12
. 15
10. Since 4 x 10 =40, and 40 x 5 = 200, then which of the following is true?
& 14 x 45=200
x 10x 5 =200
C. 4x 10x 40 =200
D. 40 x 10x 5 =200

11. My number is a multiple of 5, It is less than 100 and has a factor of 6. 'What is my numbes?
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2
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s £1: 8~
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40. Which number s the same 33 002 fourth?
(think of % of 100 when converting to decimals; think of meney)

41. Which peint en the number line below best represents 1,757

A B cCD
9o | >
(] 1 2
A. PointA
B. Point B
Point C
Point D

42. Match the following: Draw a line to make a match.

Four 08
Eight hundredths 3
64 hondredths 4
3 tenths &
43. Divide 3252 +7 4
A 463RIL
i 13 ﬂ%’%
464 Ré
44. Wit the following in fraction and decimal form:

B A _6/“30_ . 05
CO

45. Write the followiag fractions in decimal form.  Remember:  » tenths [nndrediy
vio=_s B 2100 2D senm-_p Do

5No=_2 =

wo-_o 4

wioo=_» OB ssnoo=alole  gno. , 2

50, There are 4 red cars, § blus cars, and 2 green cars in the packing lot. What s the fraction of Blue cars
in the parking lot?

A

L]
T

=

@

D.

=

51. What is the fraction for the shaded part of this set?
®* ®® O OCO0OO

A B
B. 34

©n

52. Look at this set of objects. Which fraction stands for the part of the set that is shaded?
O® FY X )

Oee
A
B, 53

R

48. Which number is the same 23 .52

One half
7 st
C. Five hundredits
D. s/1000
47. How s eighteen hundredths writtea in standard form?
A 001
& o
C. 1800
D. 1800
48. Solve each of these without using a calculator:
ax6=24 PP e Ex6=_ DY
2x9=12 sx5=25 9x6=_D
1x5= 40 2= 4 3xa=i2
J2+4m= % '.lx‘.l-ulq 56+7= i
n+9= B me2= A 3xs= 24
se9m B axa=_lo 1x7=_SW
U+3= B 323= 94 xg=g4

49, Choose the circled proup that represents 1/3.

A W c ﬁ
ey

B *n
HENEH)

v rwf)

oow>

53. Which mumber line shows these two fractions?

-+

b
-+

o 4
w

$4. Which of the following best represents the location of the X on the number line below?

X
PRl M T ey B B ]
%Il:!lillllrll'i
0 2

&

55. How many twelfths equal 5/67

B - —
REFRX

5¥2, 10D
e (oxéz? 2
C &mn

D. s Co'x\ be' Sb\m
a ANOUOWO, O
5 p\(‘;‘(\rf\‘g

56. How many eighths equal 4?7

A 5: A 74l
@m <2 ?
D. 71

57. Which number is an improper fraction?
A lima

58
&5
&7
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4x0

7x7=_49
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24+3=_3

7x3= 2\
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61. Which of the following is a prime number?

18+6

48 +6
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75. What is the length of this light bulb to the nearest inch?

e )

!lli!llll'lll—!'lllllll'llll

e

s

76. What is the best estimate of the area, in square centimeters, of the SHADED FIGURE on the grid

below? One square equals one square centimeter.

77, Which is most likely the leagth of 3 telephone book?

30 kilometers

30 centimeters
C. 30 millimeters
D. 30 meters

78. Brentis making a sail for a toy boat. The sail needs to be 3.55 cm wide. Which measure would be

MOST useful in making the sail?

D. To the nearest kilometer

82. Sheryl may want to buy new carpeting for hee room. She needs the square footage of the room
to take to the store to price how much carpeting would be. What s the area of her room in the

picture above?

22 square feet
120 square fect
C. 100 square fect
D. 144 square feet

3. Using the formula for finding the arca, what is the area of the figure below?

£reX NP

-

wl‘)" \3_ L_,__}‘"'

I Lvrr T Tem

183g. cm.
. 2235q. cm.
C. 32sqcm
D, S4sq cm

84. Find the perimeter of the figure below?
6 feet

@ *4=24

4 feet

4 feet

axazy
Al

2 feat

A 12 feet

18 fest
@
. 36 feet

S| count waole SquoLes
i i Aol d SQUAL s

75. What temperature is shown on this thermometer, (o the nearest degree?

80, Bobbie was writing an article for the school newspaper about the smount of homework the 4*
grade teachers were assigning. He was surprised to find out that the average student only spent
20 minutes per night doing homework. To make it sound longer, he decided to convert the time
from minutes lo seconds in the article. How many seconds did the average student spend on
homework?

A. 80 seconds 20 X O 71,200
B. 120 sconds A

‘C. 800 seconds

(0200 secends | min= D sec ,

81. Sheryl planned to buy a wall paper border for her bedroom. She measured the lengths of the
walls and found the perimeter of ber room. Use the picture below to determine the perimeter.

A 1ft

44 fr,
D. 120t

85. What is the ares of the figure above? ;!.‘-l + L‘ :;g
12 square feet

C. 24 sguare feet
D. 36 square feet

86. Sharon had a rectangular garden with & perimetec of 36 feet. The fence surrounding it was falling
down on one of the short sides (width). 1f the length of the garden was 10 feet, how many fest of
fence did she need to replace the broken portion (width) of the fence?

10
Width =7 Peimeter = 36 . Q
\D
Length= 10
A. Gfeat
8 feet
10 feet

D. 26 feet
87. What is the area of the rectangle garden on the previous page (#86)7
A. 63square feet
18 square feet
bzt
. 100 square feet

88. If the perimeter of & square is 48 cm, what is the length of each side? (Draw a picture and think of
the key word of what type of shape it is.)

A. Bem L L‘%d‘q:]""
cHEG L
. 24em sque

12
89. What is the width of a rectangle that bas a length of & feet and an area of 60 square feet?

Draw a picture.
@1?: Aveo Cle} (o }‘.?: (CYe]
C. 24 feet
D. 66 feet . B






105. Shaton had a bag of 12 marbles. She gave & of the marbles to Don. Which fractional part of the

108, What s the length of a rectangle with a width of 4 centi and & perimeter of 28 centi
marbles did Sharon have left? O -7 ?
A, 7 centimeters Uyls747=22
;o e &
ém 20 centimeters “ ﬁ‘{ N
e ;il! D. 24 centimeters 10 rousT low
evLn
108. Laura wrote 200 words on the first page of her journal. After the second page, she bhad 400 words. 109. Answer the following questions using this set of data.
If the pattemn continues, how many pages will it take her to write 1000 words? Continue to fill in
the table 1o find the answer. £ 14 181122 § g’qj\\,‘ \\, \Q‘ 10
Py Words Total . = Wit is the median?
Nunber words \0eL - 200 =5 Al
1 200 200 B. 9
2 200 400 ©u
3 200 ©S 20
4 T
zeo 2
5 oo P What is the range?
& & iiocn AL
7 12
.18
A3 . D. 20
B. 4
? What is the mode?
. 6 Al
B. §
107. Answer the following questions using this setof data. (2,2, 3, 5, 10, 10, 10) 1
. 15
What is the median?
5 110. Ia which set is the median the same as the range?
(] ;
(ie) 346834 —3 32 4,4 )L;,'g
D. 8 2,4,5,6,4 — )
T 1,5.6,10,4 Z,4,4,5,
What s the mode? D. 7,8,3,6,1 = 4
A2 m’ )5., ‘9,‘0
B. S 111. Divide&75 +5, Show your wirk!
é‘ \j 3, L ) -t, %
o = {7
What is the range? e
A

112, Multiply 46 by 78. Show your work!

Yl
b £

352 3

3
B. 6
8

. 10

5 B g 5}
b w 1 2
e e 1y |
bt e el i B o R S R A
TR il

o a o
=8 50 0 = e R ©» £ @t
E g = |E\B|E\Z|L|5|Elg| ¢ 5
th B =3 o | < e 2 B B | = = =9 5: WA
=4 = @ & g < B |< % 8 =
S 7 g Ay i & E 2 E
» g 1 B & 2 Bhagiianiel
- Ra clpod F B A g
= e S 5 & g g
it & g 4 “ 8 2
E = & @l 2 ®
@ g & E B g
& B Sk 2
4 B safsiH 2l S, =
% Sl : 3 liatiie B
-_/ -Eg 7 4 oy =4 E‘ ;%' g-
7 NE [a|s/2|g|8|8 8)s B & &
- 2 B -
a s s ® E
& E L= =]

“n E g
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- ]

e g
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127. Place these two fractions on the two number lines below to show why they are equivalent.

[}

128, Show how these two fractions are equal by shading some of each rectangle.

2

Zzuz |
2\ | ]

129. Explain how thess two fractions are equal.
13 U
You may use fraction bars or number lines to illusirate your explanation.

72l
%% 11 1)
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130, Locate these two fractions on the number line, label each, and then explain which is larger.

7 1l 3
IR = ij.
I 2 2 % -
2 24 57-;l !

131. Locate and label thase two fractions on the number line, Then tell which is larger.

. L
ol L2
1 1 1 1 1
N t ; t '
1 *l'\i 2 3
QAZ is larger

132. On the strips belaw, shade and label the following fractions.
2R A B

3 6 12

EAATAZANEE
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® Order Numbers
Numbers can be ordered from least fo
greatest or from greatest fo least.
Order the following decimals from least
to greatest:

37.26, 37.42, 30.79

Tens Ones | .| Tenths | Hundredths
3 7 3 2 6
3 7 . 4 2
3 0 B 7 9

Order the digits from left to right.

Since 0 < 7, 30.79 Is the least number.

Compare 37.26 and 37.42

Since 2 < 4, 37.26 < 37.42

The order from least to greatest is:
30.79, 37.26, 37.42.

@ Compare Fractions with

Like Denominators

Fractions with like denominators can
be compared by thelr numerators. The
greater the numerator, the greater the
fraction. Ty

For example, B < 5

@ Compare Fractions with
Like Numerators

Fractions with like numerators can

be compared by their denominators.
The greater the denominator, the less

value the fraction has.

2 2
For example, 3 > 5

Compare. Use >, <, or =,
2 1
3.201

® Compare Fractions wit
Unlike Denominators

To compare fractions with unlike
denominators, it is helpful to find
eguivalent fractions.

5 7

3101z
First, find the least common
denominator (LCD). The LCD
is the least common multiple (LCM)
the denominators.
The LCD of 2 and +7 Is 24.

Write equivalent fractions with 24
as a denominator.

B ia Wl 7

i3 22 12
15 QE.

Compare 4 9N

@® Compare Integers
Integers can be compared using
number line. The number that is fart
right on a number line has a greate
value. Any positive number is great
than any negative number.

-4 2.

=il ] i} ] 1 I
| 1 T 1 I 1 1 I I

-4 3 2 1. 0 1 2 3 4

—4 s to the left of —2 on the numibe
line, so —4 < —2. =

43020

® Place Value

A decimal is a number with a decimal
point (.). A decimal point separates
the whole numbers from the part that
represents part of one whole. As with
whole numbers, each digit fo the right
of the decimal point has its own value.
The place-value chart shows the
names of the places.

[ ones | .| tenths ﬁ::-_nin_:u__:ocuw:n-:n_

SR e D Rl e e

The decimal 4.853'is made up of
4 ones, 8 tenths, 5 hundredths, and
3 thousandths.

® Read Decimals
To read a decimal, separate the

" whole-number part from the part of a

whole. Read the part of the whole as
a fraction of the number over the least
place of the decimal.

Read the decimal 8.272.

Read the whole number part first. The
word and separates the whole-number
part from the part of a whole.

eight and
Read the part of the whole.

two hundred seventy-two
thousandths

in simplest form?

Do | Understa
1. What is m written as a decimal?
2. What is 0.36 written as a fraction

® Change Decimails fo

Fractions
Change 0.65 Into a fraction in
simplest form. :

Write the decimal as the numerator
with its place as the denominator: i
Simplify the fraction. % +32- 3
@® Change Fractions to
Decimals

Change m to a decimal.

o

o

Divide the numerator by the
denominator. The quotient is a decim

5+ 8 = 0625

® Change Decimals to
Percents and Percents fo

Decimals
Change 0.72 to a percent.

Multiply the decimal by 100 and insel
a percent sign (%). The process Is

essentially moving the decimal point
two places to the right. So, 0.72 = 72

To change a percent to a decimal,
divide the percent by 100 and remo\
the percent sign. So, 39% = 0.39.
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@ Examples of Polygons
A polygon is a closed figure made of line segments. If a figure has a curved side
then if Is not a polygon. Polygons are two-dimensional figures.

Ad Dl e @

triangle quadrilateral  pentagon hexagon octagon
3 sides and 4 sides and 5 sides and 6 sides and 8 sides and
3 angles 4 angles 5 angles 6 angles 8 angles

@ Classifications of Triangles
The sum of the angle measures of a friangle Is equal to 1802,

B

scalene friangle isosceles triangle

£\

equilateral friangle

¥ o

acute triangle right triangle
All angles are less than 90°. One angle Is a right angle.

-

obtuse triangle

No sides or angles are equal. At least 2 sides and angles are equal. 3 sides and angles are equal,

One angle is an obtuse angle.

® Classification of Quadrilaterals
The sum of the angle measures of any quadrilateral is equal to 360,

- O

parallelogram rhombus rectangle square trapezoid
both pairs of parallelogram parallelogram rectangle exactly 1 pair
opposite sides with all sides the with 4 right with all sides of parallel
are parallel same length , angles equal sides
1. A friangle has angle measures of 20°, 75°, 85°,
Classify it as specific as possible.
friangle

® Commutative Property
The commutative property of
addition states that the order of the
addends does not change the sum.
For example: 25 + 18 = 18 + 25!

The commutative property of
multiplication states that the order
of the factors does not change

the product.

For example: 15 x 12 = 12 x 15

@ Associative Property
The associative property of
addition states the grouping of the
addends does not change the sum.
For example:

75 + (25 + 56) = (75 + 25) + 56,

The asseciative property of
multiplication states the grouping
of the factors does not change
the product. For example:

12X (EX7)=(12x%x5) %7,

® Identity Property

The identity property of addition
states that when one addend is 0, the
sum Js equal fo the other addend.

For example: 32 + 0 = 32,

The identity property of

& multiplication states that when one

& factoris 1, the product is equal to the
sother factor. For example: 27 X 1 = 27,

T

N o>

product of 87 x 8.

1. Use the associative property of addition
to find the sum of 67 + 33 + g5,

@ Zero Property of
Multiplication

The zero property of multiplication
states that when 0 is multiplied by a
number, the product is 0.

For example: 22 x 0 = 0

@ Distributive Properties of
Multiplication

The distributive property of
multiplication over addition states
that to multiply a sum by a number,
you can multiply each addend by the
number and add the products,

For example:
Amxuuﬁoxd+ﬁwxd

2008 SRS =004

The distributive property of
multiplication over subtraction states
that o multiply a difference of two
numbers by a third number, mulfiply
the first two numbers by the third and
then find the difference of the
products.

For example:
wmxoummoxoulﬁmx&

72055 — S 8 =702

o~ 3 2. Use the distributive property to find the | ,

29 |
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